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Question 1

Question Type: MultipleChoice

Which SAP Fiori application types use SAP HANA capabilities directly? Note: There are 2 correct answers to this question

Options:

A- Analytical
B- Transactional
C- SAP GUI for HTML

D- Fact sheet

Answer:

A, D

Question 2

Question Type: MultipleChoice




What data must be linked to a cost center to derive segment accounting?

Options:

A- Profit center
B- Cost center category
C- General ledger account

D- Controlling area

Answer:

Question 3

Question Type: MultipleChoice

In a make-to-order process, a raw material needs to be issued from the warehouse to the manufacturing line. To which order will you
post the goods issue?



Options:

A- Outbound delivery order
B- Production order
C- Stock transport order

D- Sales order

Answer:

B

Question 4

Question Type: MultipleChoice

What master data in the activity type is used to post an activity allocation?

Options:

A- Cost element



B- Internal order
C- WBS element

D- Statistical key figure

Answer:

A

Question 5

Question Type: MultipleChoice

What occurs when a maintenance technician changes the status of an order to technically completed? Note: There are 3 correct
answers to this question

Options:

A- A time entry is posted for the maintenance technician.
B- Incoming invoices for the order can be processed

C- Open purchase requisitions are marked for deletion.



D- Reserved materials are released from the reservation.

E- The orders settlement rule is executed.

Answer:

A B, D

Question 6

Question Type: MultipleChoice

What technology elements supercharge the human experience when working with X and O data? Note: There are 2 correct answers to
this question

Options:

A- Machine learning predictions
B- Internet of Things (IoT)
C- Block chain

D- Conversational Al



Answer:

A D

Question 7

Question Type: MultipleChoice

What is one advantage of using stock transport orders instead of stock transfers?

Options:

A- The ownership transfer and carrier delivery costs are delayed until goods receipt
B- Goods movements occur in one step, only al goods issue.
C- The purchase orders that are generated by MRP can be converted to stock transport orders

D- The process of goods issue and goods receipt is monitored using the purchase order (PO) history

Answer:

A



Question 8

Question Type: MultipleChoice

What information do you maintain for a general ledger account on company code level?

Options:

A- Account group
B- Account type
C- Account number

D- Account currency

Answer:

B, D
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